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= 152,000 7,000 135,000
Al 2,177,181 1,597,693 579,488
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JNEASS ST AW H52Y NFAY 53,332 26,666 26,666
= 26,666 13,333 13,333
Al 26,666 13,333 13,333
401 A& HI LSO HI 53,332 26,666 26,666
= 26,666 13,333 13,333
Al 26,666 13,333 13,333
01 Al& I 53,332 26,666 26,666
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RSN 164,613 83,361 71,252
802 gHE = DI EF 154,613 83,361 71,252
01 = DEXS3HE= 83,370 83,361 9
02019 sHEZHOMQ FEHIHZALY 8,160& 9 0 9
02 Al - EHIEXZSEHEZ 71,243 0 71,243
02019 272 KNSMLAS 71,236,680 71,237 0 71,237
02019 sHEZHOMQ FEHIHZAY 2,440% 3 0 3
020174 &= XAt Ol Xt 2,630 3 0 3




